))DFyvee
SO
RAMEBRE (iR ) BRAE

XMT203 RFBAHAE 11X 35

XMT203 Series Pressure Transducer/Transmitter

HEA Introduction

XMT203 RFIEHERRBRAEOQENTHEREFEES R, FMREFEARMAMERAR, ~mttE—H
FMREMBE THRIE. BTERN EER. FHREFHR, ZR%K ZNATARAEIWL. E

Mﬁﬂqﬂfﬁﬁ%ﬂﬁ%Eﬁwio

ceiget (1pes)  WIZKIESK, Sl DIN43650-C (IP65)
PVC F4k

il (1P67)

\

=

PR S Features

MESEEM 0. .. 1bar | 60bar
MBI, T
M SERESMHIAE

B] OEM

N ASaE Application

RELW
EFEHL. AR
8 7k
KIIEZF
RESSEIEN
S

LPG #0 CNG



))DFyvee
SO
RAMEBRE (iR ) BRAE

HAREIE Parameter

HMIANSEH
MESCE 0 ... 1 % 60 bar
EHER =E, #®E
ZETEH 1. 5X HEFE
ST
R 5V DC 10-30V DC 10-30V DC
wmHES 0.5 ... 4.5V 0/1 ... 5V 4.. 20mA
BSEEER =2 =% ks
Fagy e >45K Q =>5K Q < ( Ub-10V ) /0. 02A
M EESH
SERE < * 0.5 %FSO
e < =+ 0.25 % FSO
EEMH < =+ 0.1 % FSO
EfEIRE < £ 0.1%FSO
KHARRE M < 0.5 %FS0 / £
KOERE 25 °
N ERIRE -40 ... + 105 °C
HERE -40 ... +80 C
im 200 < =+ 0.03 % FSO / °C
HE Rz Bt [E) < 3msec BK
RS EN 61 326
IR
HREEE G1/4, G1/8, 1/4NPT, 1/8NPT, 7/16-20UNF, ZFiT#l
WU =N =K 20g, 15-2000Hz (IEC 68-2-6)
RS 100g/1msec  (1EC 68-2-27)
[7E AN IP65 (EN 60 529), FEZ: metri-pack 150, DIN43650-C
IP67 (EN 60 529), BC: Bhzk#Esk, Mizs#lfF, m12X1 (4-i5)
S ER RE7kiEsk, MRzSHREfE, DIN43650-C, metri—pack 150, M12x1 (4-i%)
BEGKE 2m; BFAITH

==
=]
=

ZERMNE =



))DFyvee
SO
RAMEBRE (iR ) BRAE

#OS5R~ (mm)

UB+/Sig+ g UB+/Sig+ UB+/Sig+ UB+/Sig+

UB+/Sig+

51 D
— 21 J ] }
=
Gl G e

“ovisig- “ovisigs oV/Sig-

] <"

S [y

=2 black

0V/Sig- 0V/Sig-

] green | -
H/ %  DIN43650-C B 7K ek metri-pack-150 it 2 M12X1
AN A J2 J3 J7 J4 J9

41.5

27

15
22

Hip
sprt

©
N
=
30
30

25
36

\ﬂ_ E[\
e =TF g L) B BIE
G 095/ 1 o G| © G @
$19 G o
2SR GL/4A G1/4B G1/8B 1/4-18NPT 1/8-27NPT
AN AL G14 B14 B18 714 718
AR o] [g% vy
\H - & EE 5 2
G
G G G
$22 22
LGS R1/4 M20X1.5 G1/4(female) 1/4NPT (female)

1T 5 R14 M20 F14 N14



))DFyvee
5o iRIEB
RAMEBRE (iR ) BRAE

1T 85453 ordering info

EXA=S
XMT203
: TP
- 010 | %2, %0 010=0...10; 100=0...100; tAJEIRCHET, &m (-100...0)
: M | MPa
B bar
P psi
K |kPa
P16 | RE (REREIN
A | BE
: i
A1 4...20mA, 2 %%, 10...30V DC
V2 0...5V, 3%, 10...30V DC
V3 0...10v, 3%, 15...30V DC
V4 0.5...4.5V, 3%#l, 5V DC, EbffBgH
V5 1...5V, 3%, 10...30vV DC

JUR ECEE
G14 | G1/4A, DIN3852-2
B14 | G1/4B, EN837
B18 | G1/8B, EN837
Z14 | 1/4-18NPT
718 1/8-27NPT
R14 | R1/4
M20 | M20X1.5
F14 | G1/4, RHES
N14 | 1/4NPT, HHE4L
XXX | =l

BSEE

J2 | DIN43650-C (1P65)

J3 | Fi7k#Esk, 5lH PVC H£& (1P67)
J4 | =il (1P67)

J7 | Metri-Pack 150 ZE#EH  (1P65)
J9 | M12X1-4 & (1P67)

XX | EHl

GyEEALe
FEUEKRE, W0 2=2m, 575m, Z=F Lk

XMT203 [<0101B |G |- A1 |G14 |02 |2 | BAAE HERE




